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n.µñ+3
Y

y - 5+3 y -I-3

g-5-3

y -573 (0,3) min, 3 ✗=o Verztical
up

y=Ñ-3 CO,-3)min,-3 ✗=o
vertical translation

3vnitsdowny-x7q@sq7minsqx-overt.trans.gunits up ordown

causes vertical translations up ordown

vertical

up down
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g- 1×+35 y=(x-305
(x- '

p
=3 right

p =-3 left

y -1×+351-3,0)min,o ✗=-3 hozritlntal left
Y=(×-3513,0) min,O ✗=3 horizontal translation

3units right
Y=(x-p)' (p> 07min, o ✗ =p

hor- trans. p unitsleftor right

causes horizontal translations
left or right

horizontal

right left



y = 1×+25-4
✗ - C-2)

hor
- translation 2units left

Vert- translation 4units down

q
f-(✗+25-4 (2,-4)min,-4 ✗=-2

F-(x-p)'tq Lp,g) min,q ✗=p
hortraslationp units

left-rightvet.tw
. quits up

ordown

vent. transhortms.lovnibyu.it up. 2=1×-55-8
left hor trans. 5units

right.vertex : C- 10,0) (0,4) vet. trans . 8 unitsdown
(5)-8)

y=(✗-55

y=(✗+45-6

vert. trans. 2units 9
☒g)→(7)→ 1×+7,2+2 ) hortons. 7-units →

(3) 9)→40,11 )
*mapping *



_y=h+2J
Vertex : C-2,-3) Max/Min : min, -3

eg. for value
axisof :

✗ = -2

y -int : 1
symmetry
dir.of ✗-int's

opening
: up (ifay)

: ✗ = -2+-53

Domain : ✗⇒R charges
Range : y >-3 from y=×2 :

① hor.trans.
2units left

sketch : ② rattans
A 3. vnidtgwn

0--1×+25-3
?⃝=(x+2Ñ
tf = ✗1-2

-2+-53 =× (exact)


